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Find a statement that must be #rue according to the given information :

Suman is twelve years old. For three years, she has been asking her parents for a dog. Her
parents have told her that they believe a dog would not be happy in an apartment, but they
have given her permission to have a bird. Suman has not yet decided what kind of bird she

would like to have.

(A) Suman’s parents like birds better than they like dogs.
(B) Suman does not like birds.

(C) Suman and her parents live in an apartment.

(D) Suman and her parents would like to move out from apartment.

T8 B T FL SN Fo AMHRI & TR T € -
gw1zersfa$r%xmm@r;asmw-ﬁmaﬁﬁﬁwm@%lmwﬁmmfa%
6 o T & i T o g G, g S @k FRfeA AT 1 o & A1 el g
3 et fofr & faa fob aw b g bt Farfe e ety ? A

(A) w%w—ﬁmaﬁ@?ﬁﬁwﬁﬁ%ﬁmmél

(B) T & ferfear qae T 2

(&) T o I AT-fo SreHe # e 2|

(D) G AR Ta ar-fiar srede g 4T aned|

Green Shoots Ltd. is in the business of providing IT solutions to businesses. Currently the

company is exporting its services to USA and Germany. In 2017, the exports to USA and

Germany were in the ratio 5 : 2. The ratio of exports in 2017 to that in 2018 is 5 : 3 for
USA, and 2 : 3 for Germany. In 2018, the company started exporting to UK also. Exports
to UK constitute 40% of the total exports by Green Shoots Ltd. in 2018.

If the value of exports to Germany in 2017 is 12 million dollars, what is the value of
exports to UK in 2018 ?

(A) 24 (B) 32 (C)iam (D) 36
A qeq o Al & Mo o FANM HTM & & FEH S | oMadha T By
o THo Yo IR T &I i Faref &1 Fafd &l &l a9 2017 &, Jo ThHo To 3R T &y

Fa7q 5 2 2 % ST & &1 2017 o 2018 ¥ Fo THo To Ft Pl &1 orguma § : 3 o1 ok iy ay

2:3 971 3 2018 B & 3 Jo Fo Fr ot g & griw & el af 2018 # M+ o
Sﬁﬁﬂﬁﬁﬂm%?{o a;oa?r}ml T

?Ezonifmﬁﬁwfeﬁmmu&mmm,a‘rzolsﬁgoasoﬁﬁwﬁwwwm?
) 4 B) 32 ©) 3 (D) 36
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3. Statement :

Cases of food poisoning duc to consumption of liquor arc increasing in rural arcas.

Assumptions :
1. Percentage of people consuming liquor is more in ru

[I.  There are many unauthorized spurious liquor shops i
of the following is M

ral arcas.

n the rural areas.

. , L
Based on above statement and assumptions, which ost appropriate !
(B) Only assumption 11 is implicit

(A) Only assumption I'is Implicit
(D) Neither I not 11 is implicit

(C) BothlandIlare implicit

YA .
mﬁméﬁﬁsma%wﬁw%mmﬁmaa@%l

s

= 152 [RLLU
Ji Wésﬁﬁsmaﬁm@wﬁ*ﬁmsrﬁf&mm%l
. maﬁﬁmﬁﬁaﬁﬁsﬂwaﬁgﬂsﬁa@mﬁ%l
. Wm@xmﬁ%wmmﬁmﬁﬁﬁﬁ@rm-mwﬁw%?

(A) Sy T | St (B) et AT 11 afited @
(©) [ @i 11 ST e & (D) 1R 7 & 11 siafifed &

¢ following codes is/are the major factors for the location of cotton Textile

4.. Which of th

Industries ?
[ Availability of raw material (Cotton producing area)

II. Density of Population ( Markets)
III. Highly skilled labour
Select the correct code :
(A) OnlyI
(C) Only Il
ﬁmﬁf@ﬂ@zﬁﬁmwwmﬁmﬁaﬁﬁwm%ﬁ?
[ e I @ Suwedr (B ST &)
I SR & g9 (ST)

(B) Only I and Il
(D) AllL 1T and 111

. arfo-gea 4

wet Fe g -

(A) & | | (B) AW 1A
(©) e I @) @i 1, TSR 11
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5. Which of the following statements arc associated with the population growth of any

901/C

place ?

. The natural increase in the population plus any net gain from migration.

[1.  Increasc in the density of population.

Which is / are correct option ?

(A) Onlyl (B) Only I

(C) BothlIandIl (D) Neither I nor 1I
frfofae § 4 S-an due Tt Tt & e gfg @ gafad & 7
1. Sgen ¥ Jufiis gfa ofk e & wew & @18 of g gfa|

II. SEeEr & aae | ghal

FE fawe P-ar &R ?

(A) &1 (B) e 11

(C) TSR I3t - (D) TA ISR
Which of the following is rot one of the factors for industrial location ?
(A) Market (B) Population Density -
(C) Capital (D) Power

i § § SI9-91 &R e @ % g BeRR 787 & 7

(A) TN -~ (B) SEE ONE

(C) T (D) v

The sequence of scale of map in descending order of different maps will be :

(A) Cadastral map, topographic map, wall map, globe

(B) Globe, cadastral map, topographic map, wall map .~

(C) Wall map, cadastral map, topographic map, globe

(D) Wall map, globe, topographic map, cadastral map

ey AT & ST HA H A & YT & ST 34T 8T 7

(A) -Gy () AR, WHas A, e aefeE, e
(B) ¥, -l A, Tdhiae A, am aefas

(C) fearer A=, -Fwfel AT, WThids AHRE,

(D) fearet wifer, e, Wergfod A, s-wwfy qt -

McMahon line is the international border between :
(A) India and Pakistan (B) India and China
(C) India and Bangladesh (D) Pakistan and China

AeTes v T 2T  fter efmie e & 7
(A) ¥Rd SIR Tl (B) RT3 9
(C) SR &R ey (D) ik & i

™
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9. Which of the following crop is mot part of High-Yielding Varieties Programme 5

(A) Rice (B) Wheat (C) Jowar (D) Pulses
formifefad 3 & B U T ar-difve Rt 3 i an e 7 € 7
(A) o= B) M (C) ®&X (D)
middle, if all of

10. In this question five words arc given, which one of them will come in the

them are arranged alphabetically as in a dictionary ?

-

©* . 1 Y e
\@\tcr fly, Bumr, B%sher, B@on, B%er
( A (B) Butter 7—

{) Butterfly:
(C) Button 4 | (D) Butcher(7)
{quﬁﬁawﬁqm%mﬁwwﬁwmﬁmﬁ, 3 fr qEHIY A, T B
qreg AeT | A 7
Butterfly, Butler, Butcher, Button, Butter
(A) Butterfly (B) Butter
: (D) Butcher

(C) Button
(Question No. 11 to 27) are in Engligh to test the

Note : The following questions
comprehension of the English Language and therefore these questions do not have Hindi

Version. _
e (M "o 11 %27)aiﬁﬁﬁwasa‘m¢r$rwﬁwés.m%wﬁmﬁqﬁm%ﬁ

o T8 AT S e §
11. Find the word that names a necessary part of the underlined word :
k Facsimile- .
| % (A) Picture (B) Image
# (C) Mimeograph - () Copier
12. What does a formal resignation and renunciation of power means ?
(A) Abdication '
(B) Supernumerary
(C) Seclusion
(D) Auxiliary
13. Find the word that completes the bottom row of wor(is .
Fence Wall Boundary
Path Al v R e
(A) Ramp (B) Passageway
(C) Airfield (D) Pedestrian

Qn1t /e~
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14. Fill in the gap, with most appropriatc word in the following sentence :
People over 65 spend nearly two hours a day .............. physical activitics such as walking,

cycling or gardening.

(A) cxercising (B) having
(C) making () doing

15. Itis appropriate to compensate someone if you have damaged his or her property in some
way. This is called Restitution.

Which situation below is the best example of 'Restitution’ ?

(A) Ram borrows Sunil’s camera and the lens shatter falls on the ground, becausc he
fails to zipper the case. When Ram returns the camcra, he tells Sunil that he will pay
for the repair.

(B) Rita borrows her neighbour’s car and when she returns it, the gas tank is practically
cmpty. She apologizes profusely and tells her neighbour she will be more
considerate the next time.

(C) Decpak asks Anil to check-in on his apartment while he is out of town. When Anil

arrives, he discovers that a pipe has burst and there is a considerable amount of
water damage. He calls a plumber to repair the pipe.

(D) Lalita suspects that the pothole in her company’s parking lot caused her flat tire She
tells her boss that she thinks the company should pay for the rcpafr |

| 3 ’46 English ought to be the official language of the United Kingdom. There is no reas fi
! ; son for

the government to spend money printing documents in severa diff
| caier to people who cannot speak English. The government has b
b mox.lcy. People who come to this country should Icarn to speak [in
iWthh of the following,

! erent languages, just to
ctier ways to spend our
. glish right away.

if true, would make the speaker’s argument stronger ?

- documents in their native language,

| Most peoplc int i
4 people inthe United States who do not speak English were born here.

Immigrati | .
gration rqtes have decreased in recent years,
vlany other coungy; Al
% , trics haye only onc official languagc.
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17.

18.

19.

20.

22.

9201/C

(C) peoplei

A

Yoga has

]‘!k‘(‘
-OMme ¢
VOu . a very
f; S1EN .\'(Hu'sdl‘up lb- Populas type of exerci
ItNess ronits I'a yoo: XCIcise, but |
SS TOUtine, [f vy s, YOga class, you need (o Uit may not be for
class migh You’re lookine ¢ s need to examine what it ; everyone. Beforg
gt not be yoyr best ¢ 6 10ra hlgh-cncrgy fast ;t o IO R
J st choice » last-paced aerobic
. workout, a yoga

. } vS S } () S > C .
. o rl

. ()IC ar
() IC.‘.

(B) Bef
' C‘()I‘C el .
mbarkin
; : gonan ; :
and desires, CW exercise regimen, you should think about your needs

((_Y ) Y()O i 10 g ‘

(D) Yoga benefits your body and mind.

IFind the word
rd that names a necessary part of the underlined word :
Respiration
(A) Mouth (B) Circulation

(C) Oxygen (D) Carbon monoxide
bout nothing’ ?

What is the most appropriate meaning of ‘Much ado a
(B) Making memorable events forgettable

(A) Making lot of fuss for a triviality
(D) Making things look easy

(C) Making things look small

Which word does not belong with the others ?

(B) Trivial (C) Insignificant (D) Familiar

(A) Unimportant
hers ?

Which word does not belong with the ot
(C) Trial

(B) Prosecutor

(D) Judge

(A) Defendant
hat obesity can lead to a

problem in this country. Research suggests t
disease. Recent research

lems including diabetes, asthma and heart
t there may be a relationship between obesity and some types of

health campaigns that increase awareness and propose simple
], with diligence and desire, eliminate or least mitigate the

cial first step in battling this critical problem.
ment that : ‘

Obesity is a serious
number of health prob

has even indicated tha
cancer. Major public
lifestyle changes that wil
incidence of obesity are a cri
This paragraph best supports the state
¢ health campaigns that raise conscio
to fight obesity.

(A) publi usness and propose lifestyle changes arc a

productive way
besity is the leading cause of dia
n our country watch too much televi
esity would radically decrease the incidence of

betes in our country.

(B) o
sion and do not exercise enough.x
asthma. »~

(P) adecline in ob
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23.

Fill in the gap, with most appropriate word in the following sentence :

people all over the world are working longer hours.

(A) In general (B) Although
(C) However (D) Despite

ationship :

24. Find the pair that has a similar re]

Pastoral : Rural

(A) Metropolitan : Urbans

(B) Harvest : Autumn
(C) Agrarian : Service

(D) Sleepy : Nocturnal
Find the pair that has a similar relationship :
Aecrie : Eagle

25.

(A) Capital : Govcrm;;gnt

(B) Bridge : Architect
(€) House : Person '-‘3-/.‘,,‘ '

(D) Unit : Apartment
26. Candid is t6 mdlrect ?S honest is to :

(B) Wicked
(D) Untruthful

ication occurs when a book is published after the author’s death.
ion is the best example of Posthumous publication ?

ﬁblishf;r cancels Savita’s book contract after she fails to deliver the manuscript on
.tlme. !

ajinder nevei; thought he'd live to see the third book in his trilogy published.
D) iAmita & hon(;'Ured with a prestigious literary award for her writing career and her
| &daughtcr acceﬁts the award on behalf of her deceased mother.
' ¢ : 5 sen setup for providing information
I ol i Ipline Number has been se
ich one of the following Help ‘
ions in Haryana ?
ted to Election ry Bt ) 1000
(A) 1008 (B) 1947

| -8 BedTTE TR AT b
. : &1 ¥ fory Frefafed & @
o & et & G G g
«%?

1000
(B) 1947 ()t %
A) 1008 |

~
[ (Y
571

PTG

4
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29.

30.

31.

32.

901/C

Which of the followin i
g day is obserye i
Female Genital Mutilagicn o ¢d as International Day for Zero Tolerance f

(A) February 6" (B) January 31
* ranuary 31% - (€) March 14" ' s
33 e ‘ (D) February 14
i '%”?5' 8 R 1 A o F % o o e ¥ st Raw & &9 4 7

(A) 6%El B) 31 Swad (C) 14rd

or

(D) 14wl

Which onc of the follows i

wing combination of personalities of Haryana w

% | . g ere awarded P
Shri award by Government of India in2019 ? : T

(A) Kanwal Singh Chauhan, Sultan Singh, Narendra Singh

(B) Kanwal Singh Chauhan, Dhoop Singh, Manohar Lal

(C) Narendra Singh, Anil Kumar, Subir Das

(D) Roop Singh, Sultan Singh, Dhoop Singh

eftar % aferat & fe we & af 2019 7 TRG GRAR GRT 777 £t gRehr foam o ?
(A) Faw Rie e, g e, s e

(B) %aw g <ie, g9 e, e O

(C) = g, e AR, GoIR <@

(D) & e, g RiE, g e

A milkman has 20 litres of milk. If he mixes 5 litres of water, which is free in 20 litres of

pure milk. If the cost of pure milk is Rs. 18 per litre, then the profit of milkman, when he
sells all mixture at cost price is :

(A) 20% (B) 25%
(C) 33% (D) 18%
W@W%WZOW{H%M&%SWqﬁﬁﬁmﬂ%,ﬁ%zoﬁﬂagagﬂﬁgwét
qﬁg&’gﬂﬂ%mlssﬁqﬁiha%,'aﬁﬁwzwiamwwéﬁmmﬁﬁwmwz

(A) 20% B) 25%

(C) 33% (D) 18%

The United Nations Human Right High Commissioner office is located at :
(A) Geneva (B) New York

(C) The Hague (D) Stockholm
mw%mwﬁmﬁm%? ‘
(A) S # | (B) A | |
) ¥ (D) wHHE A

9p R yob
) |
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33. In which of the following country, joint peace mission, a multi-nation’ counter terrorism
exercise of Pakistan and India was organized under Shanghai C

ooperation Organisation
(SCO) for the first time in 2018 ?
(A) Switzerland (B) TFrance (C) Russia (D) Germany
et 3 & o 30 3, e e Riew, 2018 F vedt aw g qe @t (g0 6o 3ro)
EWWWW%WW%WWEW@WWHWWW
o7 ?
(A) Regsreve (B) g (C) &4 (D) ST
34. 1o \' 1§ Series n
898 10;, 70, 1S, 60, .00 , what number should come next ?
(A) 20 B) 25
(C) 30 (D) 50
TH ATHA HI 3 :
80, 10, 70, 15, 60, ........, 3T T 47 €T F1iRT ?
(A) 20 (B) 25
(C) 30 (D) 50
35.

Which gas was released when -Bhopal gas tragedy occurred-?
(A) Methyl Cyanide (B) Methyl Iso Cyanide

(©) Methyl Nitrate (D) Nitrogen Cyanide
S SIS A A B g 6t S-ef T e g8 o

(A) HITET ArEIES (B) WIS ST HEES
(C) ¥argw Trg2e . (D) LI s
PQLI stands for :

R

- (A) Physical Quality of Life Index (B) Poor Quality of Life in India
@) Population Quotient of Life in India (D) Poverty, Quality of Life in India

fpfirenet FaTferch oifth @1ew 334 (B) YR et oifth w1sw 5 zfoean
) GG FE G e g afer (D) T, FR Sl e o afven
strument lS used to measure humidity ?

drometer (B) Hygromctcr (C) Pedometer (D) Pyrometer
TS % % R B awavon a7 e v o 7
Tt (B) IR (C) Wi (D) TR

oL ¥.T. O
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38. If 'P' denotes 'multiplied by', 'R' denotes 'added to', 'S' denotes 'subtracted from' and '
denotes divided by, then k-
16xP4£81*{’12§51sequalt0:
(A) 80 (B) 54
@ 15 (D) 75

T P N ERTG S &, 'R AW 20 e B, 'S' uer ok T fastra 8 e 8,
16P4T8R 12 S5 faam & sEw 8 ?

(A) 80 - (B) 54
€) 15 (D) 75
39. What is the 2018 estimates of sex ratio (women per 1000 men) in Haryana ?
(A) 900 (B) 875 (C) 950 (D) 914
el # 2018 & e gaR fo sgard (@i 1000 gest R Reh) @1 8 7
(A) 900 (B) 875 (C) 950 (D) 914
’ 40. Which was the World’s first successful electronic computer ?
(A) PARAM . (B). CRAY:I
(C) PASCALINE (D) ENIAC
fasa &1 9w e FoEei HRAER HIA-41 41 7

(A) TH (dto To 3MRo To THo)

(B) # - 1 (dlo &TRo To a0 - 1) :

(C) e (ffo To THo Hio Yo Tdo Mo Tdo %0)
(D) s'ﬁﬂ}? ('5‘0 Uqo anéo Uo @'o)

41. In which District of Haryana, Madhogarh Fort is being developed as Tourism spot ?

(A) Gurugram (B) Sonipat (C) Mahendragarh (D) Rohtak
m&mmﬁwm@rmwmmmmmm?
(A) T&I™ (B) ®rfga (@) W=TE (D) &

42. Which one of the following sectors has attracted the highest foreign direct investmen!

inflows into India during last one decade ?

(A) Chemicals other than Fertilizers (B) Service Sccto.r o
(D) Telecommunications

(C) Food Processing i 39
ﬁmﬁz%%?xmWﬁmmmsﬁwafﬁ%mmmm%ﬂﬁgﬂ% .
(A) HE B B W (8) ¥
(C) w@uEIn (D)" BV

901/C

Scanned by CamScanner



43.

44,

45.

46.

47.

901/C

11

Which district of Haryana was awarded best award for implementing PC & PNDT Act

under the 'Beti Bachao Beti Padhao' Andolan recently ?
(A)  Yamunanagar (B) Faridabad (C) Sirsa

(D) Kurukshetra

T SN 3 el s ¥ sihd e oo it s e T 3 R eRar &

ﬁﬁﬁm@ﬁﬁ%wﬁmwm?

_(A> TR (B) HRMER Q) R

Scientists estimate Earth’s average albedo rate is about :
(A) 35% B) 60% (C) 30%

(D) Fo&A

(D) 70%

w#mm%waﬁaﬂwm(mwﬂm)aww%:

(A) 35% (B) 60% (C) 30%

(D) 70%

Which is the most common type of disaster in Meghalaya state of India ?

(A) Tloods (B) Volcanoes (C) Tsunami (D) Landslides
RT & AU T § qaifies o ebr & ooy -t & 7

(A) @& (B) SramEt (C) g (D) TG
LLook at this series :

664, 332, 340050, ........... 89, what number should fill the blank ?

(A) 85 . (B) 97 (C) 109 (D) 178

39 ITHH $I 34 ¢ '

664, 332, 340, 170, ............ 89, R<h T 7 Fam WA et AR 2

(A) 85 .~ (B) 97 (C) 109 (D) 178

The model code of conduct for political parties and candidates to be followed during

elections is specified in which of the following ?

(A) A voluntary agreement among recognised political partics
(B) Principles laid down in the Constitution of India

(C) Directions given by Supreme Court of India

(D) In the Representation of the Pclecs Act, 1951

I % AR oI <ol SR Switeari & forg emaef omar &fear foafafaa & foad Aifte o

T & 7

(A) A o &t % At ua Qfees qwei
(B) R4 % wfaear # @iua Rarw

(C) 9RA % gatey AT &R R w Frden
(D) =+ wfafafee afafiam, 1951

P.T.O.
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48. Suresh and Sarvesh walk in opposite directions. Sarvesh is moving towards north. Afie
moving for 4 km both turn left and walk for 4 km again. Both of them turn to face cach

other. In which direction would Suresh be looking ? ’ 0
(.A) NOI‘lh-WCSl (B) West W —
((') SOuth-East (D) East o
ﬁtﬁﬁgﬁﬁﬁ‘?ﬁﬁﬁmﬁmﬁl FAG TR BT ST AT 75 @1 2| 4 oo &1 @ g7 F an
3 AT e o # e g

fHorfo \ i & QA AT A1 2| g o, e o
PUNRLL L = F A A 0 gE e Y

t
(&) Bﬁm-ﬁ (D) l{j ) - d

49. Match List-I with List-IT and sclect the correct answer from the codes given below :

List-1 List-1T

(a) Kautilya i) Rajtarangini

(b) Manu (ii) Arthashastra
(c) Kalha (iii) Manusmriti
(d) Banabhatt (iv) Harshacharita

Code :

(A)  a-iv, b-iii, c-ii, d-i (B) a-iv, b-ii, c-iii, d-i

(C) a-ii, b-iii, c-1, d-iv (D) a-ii, b-iii, c-iv, d-i

FAT-1. 51 geA-11 % |1 GAtera S o A1 Re 10 22 § @@t oo &1 =29 i -

-1 -1

(a) Bifee (i) TSRy

(b) 73 (ii) erdfama

(c) F=T (iii) 7gEf

(d) gz (iv) g5t

W” - .. e .
(A) a-iv, b-iii, c-1i, d-i (B) a-iv, b-ii, c-iii, d-i
(C) a-ii, b-iii, c-i, d-iv (D) a-ii, b-iii, c-iv, d-i

T
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Jovernment of Haryana has started lifc time pension of Rupees 2,000 for patients
suffering from which of the following discases ?

(A) HIV/AIDS (B & Eld,
(C) Dengue (D) Chikungunya

< T 3t e & 3 Ree A & e A @ 2,000 T @ ofig T I A
T & 7
(A) Tdo Hgo No/TgH @) Ho o
(C) ¥ ) EEEN R
51. What is Artificial Intelligence ?
(A) Making a Machine intelligent
(B) Programming with your own intelligence
(C) Pulting morc memory into Computer
(D) Putting your intelligence into Computer
Fom gfa e ?
(A) W 1 e ST
(B) I fe % W G FA
(C) et H ST ST HAY ST
(D) e H e g sra

52. In which of the following clections was VVPAT used for the first time in Haryana State ?

(A) Panchayat Election - 2015 (B) Municipality Election - 2018

(C) Jind Assembly Elections - 2019 (D) Lok Sabha Elcctions - 2014
=R T & Rrefatad 7 Y g gE 7 aed aR dddiedt @ swarT i w2
(A) YT g - 2015 (B) R {7 e - 2018
(@) dfig fum gsm @ - 2019 (D) e §91 g - 2014

53. Rita, an accomplished pastry chef who is well known for her artistic and exquisite wedding
cakes, opened a bakery one year ago and is surprised that business has been so slow. A
consultant she hired to conduct market rescarch has reported that the local population

& doesn’t think of her shop as onc they would visit on a daily basis but rather a place they’d
‘-¢ visit if they were cclebrating a special occasion.

e ! . ] ‘14 employ to increase her daily business ?

s Which of the following stratcgics should Rita cmploy Y

(4) Coupons available that entitle the coupon holder to receive a 25% discount on
wedding anniversary or birthday cakes. i ‘ \ o *
Exhibiting at {he next Bridal Expo and having picces ol onc of her wedding cakes

available for tasting. . BB e R 1.
Placing a serics of advertisements in the local newspaper that advertise the wide

array of breads, muffins, and cookics offered at her shop.
Moving the bakery to the other sidc of town. pe
P. T. %%
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A aer e v & o - 3 fere opy o ud S b @1 B fon dibiin & g g,

wﬁmmwmmmgﬁ;mwmmwmkl qeeiaren B ou aop 5

WM % g v, 3 s s e osar dan sl dad 8 @ g gwen g 3@ Q- o afn

St e et § b g g w o e o afee o d) @ fd s s @ Al

A ory s v gf e 3 forg Pt i @ avr-dl a7

(A) GO QU ST S G I @) o At a1 orafda a0 25% wekdt 2l

21(3:) ?mmﬁﬂmwm‘kmmmmmm%%gﬁmml

) U R ot ¥ aga & e A o owed g g & o aredt gaer 491, aftb ot g
| %’rﬁﬁamm?mmm e A
(D) B A R F o= W W |

, iya. Rahul and Raman run around a circular track and they take 3 minutes, 5 minutes
s o and 6 minutes respectively to complete one round. If they start running together at 11:45

B¢ AM, whenwill mﬁymeaet again at the starting point ? _
(&) TedSPMC . . b (B) 12:25 AM | gl -

© 1215AM (D) 12:25PM 9.7

MRWWW%W@WWW%#@WW 3 firre,
R A AT B 11:45 AM T AT S i &, @A o fag w

el e o ' T |
B . (B) 1225AM
: N ;'.‘." = m d ‘_"l | - (D) 12:25 PM ;

: and 4 green balls and two balls are drawn at random.
the balls are bluc ? y
() 581 D) 37 1

A8 i D) 3/7
il A O {

‘was the brain behind the ‘Chittagong
il ‘kﬁﬁ g

@ ckhar Azad

&

ingh
i
.
N N*"@“M%
S, = i
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The worlq’g first human rights TV channel has been launched in which of the following

citics ?

(é\) New Delhi (B) London (C) New York (D) Tokyo
1 T AT o dro S it 3 & R R 3 ot f @ 7
(A) ¢ Ry ®) s ©) =Tt (D) e
Match L.ist-I with List-II and select the correct answer from the codes given below :

O Tl LT
o gu.age of political Islam in In.dxa (1) Kalhana .
grarian System of Moslem India (i) Bhagat Singh
(©)  Why I am an Atheist (iii)) W. Moreland
(d) Rajatarangini : (iv) Muzaffar Alam
Code :

(A a-iv, b-iii, c-ii, d-i (B) a-iv, b-ii, c-iii, d-i
(C)  a-ii, b-iii, c-i, d-iv (D)  a-ii, b-iii, c-iv, d-i
W‘Ifgﬁ-ll%wmmm%mwﬁﬁ &Y IR BT =T BT -
-1 '
R 11
(@) T T ok NfeReare Te =7 zfieay (i) @ww

(b) < onRer freew offs M abemr (i) s fie
(c) mmﬁ&qﬁwﬂe/'/ﬁii) &go ARde

(d) TSR (iv) YT ST
(A) a-iv, b-iii, c-ii, d-i | (B) a-iv, b-ii, c-iii, d-i
(C)  a-ii, b-iii, c-i, d-ivg (D) a-ii, b-iii, c-iv; d-i

Find the difference in the amounts of compound interest and simple interest if R 2000 i
s. 2000 is

invested at a rate of 10% compounded annually for 3 years and the same amount invested

at simple interest of 9% per annum for the same time period
(A) Rs. 122 (B) Rs.62
(C)- Rs. 392 (D) Rs.209

g 2000 59, 10% %I & & 4997 63 ooy & ok Fordy 3 ot & e arfifes el o o fae
ST & o gt TR @ Ta & 3 % forg 9% it afifes wwer e X P o e 2, iy
I @R e @ @l AT A SR E

(A) 122 599 : (B) 6280
(€) 392 59 (D) 209 &9

P. T.O.
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60.

Gl.

62.

63.

(C) Thailand and Jharkhand
feretfeflae # & oy a1 ofi T & oy oo @ =Ramom 4 2010 % TP A B R R B

Arrange the following events/movements in the correct order of their chronology :
. Rowlatt Act Satyagraha 2.  Civil Disobedience Movement
3. Boycott of Simon Commission 4. Quit India Movement

Code : - | '

(A) 1-2-3-4 (B) 1-3-2-4 (G0 23441 (D) 3-2-4-1
ﬁwﬁ%ﬁ%ﬂaﬁmﬁmw(mﬁfﬁﬁ)% q&t Hv 7 arafed S

1. T uee qane 2. QR oras ST

3. TR ST & SRR 4. IR BRI AR

T .

(A) 1-2-3-4 (B 1-3-2-4 (C).. 2-3-4-1 (B 3-2-4-1

Which of the following Ministry publish the Economic Survey of India ?
(A) Ministry of Finance ‘

(B) Ministry of External Affairs

(C) Ministry of Home Affairs

(D) Ministry of Commerce and Industry
Wmm%ﬁwﬁwmﬁ%m—mwmﬁmm% ?

(A) o d=m

(B) facsr #=me

(C) T

(D) arfor Ud T e

Select the correct non-renewable source of energy :

(A) Hydel (B) Thermal (C) Solar (D) Wind power
&l & FET AT B 1 7 B
(A) s B) (©) ¥R (D) W 9

Which one of the following country and state of India was c
state for Surajkund Mela 2019 in Haryana ?

(A) Thailand and Maharashtra

hosen as partner country and

(B) Kyrgyzstan and Maharashtra
(D) Srilanka and Maharashtra

¥ T T E 7
(A) grEeive 3R TBRTE B) fefismam ok werre
(C) gr=dvs &R FmETe (D) i@ iR wErTE

901/C
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64. Match 1 .
¢ GA8t-1 with Li
List-IT and sclect the correct answer from the codes given below :

List-1
List-1I
(a) St .
(b) Stl:;ly Oigncology. ()  Study of Birds
: y of i 1 o
Yy umismatics (ii) Study of altering genetic components
i \gtudy of Eugenics (i) Study of Coins
o lu y Ofo G : .
A rnithology (iv) Study of Cancer
(A) a_iv _ias os g i
(€) : m C-_n’ - (B) a-iv, b-ii, c-iii, d-i*
a-1, b-ii, c-iv, d-i » ; DY b s, defn

W—laﬁw-na;w@mﬁﬁqeﬁm%mm@a Y T T T B
-1 -1

(a) SR BT STEIT ()  afer @ eremEe
(b) “fhEhfeTq 1 ez (i) S ragdt 3t SrewT-aga B e
(c) ol @ sremas (iii) el @1 oreras
(d) ST ST eTegs (iv) SR @I STeas
e : |
(A) a-iv, b-iii, c-ii, d-i ~ (B) a-iv, b-ii, c-iii, d-i

(C) = a-iii, b-ii, c-1v, d-i (D) a-i, b-iii, c-ii, d-iv
65. Crude density of population is also known as :
(A) Arithmetic density (B) Agricultural density
(©) Nutritional density (D) Nonc of the above
ST T A g T T & St S o €
(A) TR o (B) PN ET
(C) s v (D) S A A Pk Tel

A train coach manufacturing plant can manufacture 7 train coaches in 45 days. How many

66.
days will require for manufacturing seven trains with nine coaches cach ?
(A) 315 days (B) 405 days
365 days
(C) 395 days (D) o i :
et a7 fRea Fafmfor & are 6 45 f%a‘fﬁ%a%&ﬁaarﬁﬁnﬁm%lﬁmﬁa‘waswwm
mifedt % Rafeafor # e FaT @ 7
(A) 315f= (B) 405 &
(C) 395 fes (D) 365
" p.T.0.
901/C

RO R
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67.

68.

69.

70.

901/C

The mode value of the age observations for 27, 34, 34,10, 34, 12, 34, 18, 27, 34 is :

(A) 10 (B) 12 (C)iar (D) 34
tetfee oy Jewit 27, 34, 34,10, 34, 12, 34, 18, 27, 34 3% g Tgee &1 419 &
(A) 10 B) 12 (L) 27 (D) 34

Identify the right order of highest to lowest irrigation coverage :
(A) Punjab, Uttar Pradesh, Haryana, Bihar

(B) Punjab, Haryana, Uttar Pradesh, Bihar

(C) Haryana, Punjab, Uttar Pradesh, Bihar

(D) Haryana, Uttar Pradesh, Punjab, Bihar

I R e R s % €t w7 ) gear A -

(A) H9E, ST gy, eRamm, fer

(B) 9, eRamom, S w29, R

(C) &R, dome, oo Ry, fER

(D) sRamm, SR w2y, w9, fRer

Which one of the following statement correctl y refers to Corporate Social
Responsibility ? |

(A) Company’s sense of responsibility to spend money on social issues

(B) Company’s sense of responsibility to spend money on natural environment

(C) Company’s sense of responsibility to spend money on community development
() Company’s sense of responsibility to spend money on community and environment
fFifeier & § SI9-J1 T RS WIS STREIRIE B @8l &7 & qamr & ?

(A) HEAT ST AN el T g7 FF ST & IOREII HI a1

(B) FHT @I T GafaRer T 4 7 F  FREAE Ay

(C) HHAT B QRIS [aHE 9T 8 o7 &R & IREIad & arg

(D) FHFT F G SR TR W 44 &Y & & IREIIE F1 are

Which of the following correctly deplct the statements related to demographic distribution

of population ?
I. The proportion of children population is low in Kerala state whereas it is high in

Uttar Pradesh state.

II. The proportion of Old Age population is high in Kerala and low in Jammu &
Kashmir. .

Which is / are correct option ?

(A) Onlyl (B) OnlyII

(C) BothIandII (D) Neither I nor 11

Scanned by CamScanner
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i & & s e % omifee R & G e @ agt fm o @ 2
Lo e d e @ e B e (e § wafd SR 59 e ¥ 98 95 2
L. % & g Wi Y SEe & argur 9ed & o o O a3 e &)

et faw Pi-ar 273 2

(A) ¥ 1 (B) &aw II

(©) 1R 118 D) TATARTAD
71. Which script is used to write Haryanvi language ?

(A) Sanskrit (B) Hindi

(C) Devanagari ‘ (D) None of the above

eRATodY s fera % for R fifty @t awaer far o i

(A) & B) fe=h

(C) ZrI (D) S9gcH & & FF T
72. Match List-I ~with List-II and select the correct answer from the codes given below :

List-I List-IT
(a) Salt Water Lake (i) Godavari

(b) Longest river“of_ the peninsular India  (ii) Damodar
(¢) River flowing through a rift valley (iii) Sambhar

(d) Fresh water lake (iv) Waular
Code :
(A)  a-iv, b-iii, c-ii, d-ix | (B) a-iii, b-i, c-ii, d-iv
(C) a-i, b-iii, c-i, d-ivy (D) a-iii, b-ii, c-i, d-iv
-1 ® Feli-11 & a1 Gafer aiforg oK e T 10 %2 & w8 oo a1 =797 i -

-1 T

(a) I ST ST () MeEd

(b) WEE STRT t wE T T (i) ETR

(c) fasisr ardl & et (fii) R

(d) et o @ S (iv) &
i B) a-iii, b-i, c-i, d-iv

(A) a-iv, b-iii, c-ii, d-i

(C) a-ii, b-iii, c-i, d-iv (D) a-iii, b-ii, ¢-i, d-iv

. 1 c agQ ar |¢ o ’)()]() ’
| a 4 1 Haryana state as per .]dnlldl) Z
W ' Irc Currcntl funcllomng mn Y
Ho many PanCha})atS )

78.
status ?
(B) 3500 - 4500
A) Less than 3500
EC))’ 4;:(5);-6000 (D) Above 6000
P.T.O.
901/C
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74

75.

76.

. The SPECIAL tree, is an ever

T ———— T iii——

?Ier&, 2019 3t Rerfe % s aftamom <o 3 g v el daret e & 7
) 3500 ¥ &¥ (B) 3500 - 4500

() 4500- 6000 (D) 6000 & sifires

trec has & fles} : green free that grows in the Central India. The SPECIAL
e Sy, poisonous fruit. Recently, Taxol, a substance found in the bark of the
> s discovered to be a promising new anticancer drug.

X})‘IC}}: i (:?icsf oll.owing statement is most appropriate from the above text ?
e i ha}:msonous when taken by healthy people.
cured people from various discases.
(©) | .Pcoplc should not cat the fruit of the SPECIAL trec,
(D) The SPECIAL tree was considered worthless until Taxol was discovered.
fa9T g7 Tareen ger & o wex e 3 | |
T T, w%wﬁm%ﬁmzﬁﬁmwm o
ST ST B AR i & & a-m g waifie oyged 7
(A) T Tl Bl & F9 @ @7 &R o o 21
(B) it ¥ fafdrr it & o st &by i e 21
(C) it & fas g&1 &1 et & @ ARl
(D) 3 2 G & Tear BE gar & o e o el

ook}t this eri&s :
FAG GAF HAI TAH AA......, KAT, fill the gap :

) JAK (B) HAI*
(C)  HAKE (D) JAI
FAG GAT HAIIAH ............  KAJ, R<h e &1 ¢

(A) JAK (B) HAL
(C) HAK (D) JAI

f Portuguese was divided into three independent presidencics. Identily
¢ given options

(B) Goa, Madagascar, Mauritius

(D) Goa, Reunion, Malacca

R o et i § g9 Sefle

The Asian empit¢ O - : h
the correct sct of these presidencics from

(A) Goa, Mozambique, Malacca

zambique, Mauritius
(C) Goa, Mozam | :
WWWW%WW i fafer el <

% et T B T %z (B) e, Hermey, | K
(A) 7ﬁ3:|T, I 2 ” b, (D) Tﬁaﬂ', Wﬁm‘ Halldl

() i, e, A
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Mrs. Amita took a taxi to meet her three friends for lunch. They were waiting for her
outside the restaurant when she pulled up in the car. She was so excited to see her friends
lh‘al she left her purse in the taxi, As the taxi pulled away, she and her friends took notice
ol l_hc license plate number so they would be able to identify the car when they called the
taxi company. The four license plate numbers below represent what cach of the four
Women thinks they saw. Which one is most likely the license plate number of the taxi ?

(A) JXK 121, (B) JYK 12L (C) JXK 121 (D) FXX 121
WW%WRMWW@W%WWWW%W%WM@%W

VU A TN B ff| 78 o) wRft @ B % g goh oA o R o o

Wﬁﬁ@sﬁml.ﬁaéﬁmﬁﬁr%aﬁmﬂ%ﬁ@ﬁmﬁﬁﬁt#mmﬁmm%%
Wﬁqﬁwaﬂwmﬁ%ﬁqwma@w@zﬁz&ﬁ?ﬁ%%aﬁmﬁ%m%ww
%WWW%IWEWHW#W@W—WW#WW?

(A) JXK 12L (B) JYK 12L @) XK (D) TXX 17L
Match List-T with List-IT and sclect the correct answer from the codes given below :
List-I | List-11
(a) Himachal Pradesh (1)  Soochipara Falls
(b) Madhya Pradesh (1) Koosalli Falls
(c) Kerala (iii) Gatha Falls
(d) Karnataka (iv) Bundla Falls
Code : ’
(A) a-iv, b-iii, c-ii, d-i (B) a-iv, b-iii, c-i, d-ii
(C) a-i, b-iii, c-ii, d-iv (D) a-iv, b-ii, c-i, d-iii
-1 &1 GaT-11 & A1 GAfer S ofk e e 17 2t & @t ook &1 2o AR -
-1 T
(a) fewme 9T (i) e g
(b) WA (if) Il FoTd
©) ¥ (%ii) UIRIR RIS
(d) HeH §)" g

A W : v e . .
(A) a-iv, b-iii, c-ii, d-i
(C) a-i, bAii, c-ii, d-iv»= 0

In certain code RANDOM is written as ODKGLP, h

code ?

(A) MDOGLQ  (B) MDTGLQ  (C) MDOALQ

ot 0 g 7
fog g ferar ST 7

(B) a-iv, b-iii, c-i, d-ii
(D) a-iv, b-ii, c-, d-iii 5 5

}(I/ ' - { . .
ow will PARDON be written in that

) MDOGRQ
# RANDOM @ ODKGLP % & i ferar 7 &, adsy f& PARDON &1 58 ¢ i

(B) MDTGLQ (C) MDOALQ (D) MDOGRQ

(A) MDOGLQ o
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80. Statement :

n . . . . .
In order to bring punctuality in our office, we must provide conveyance allowance

to our employees." - Incharge of a company tells Personnel Manager.

Assumptions:

81.

82.

(A) Only assumption I is Implicit
(C) BothIandII are implicit

YA

L. Conveyance allowance will not help in bringing punctuality.

II.  Discipline and reward should always go hand in hand.

Based on above statement and assumptions, which of the following is most appropriate ?

(B) Only assumption II is implicit
(D) Neither I nor II is implicit

‘e § Ty Fafiar @@ % Rig, & o wHERat @ em-a a1 aE A4 g2 &
AR’ — FHT B g TaReE geve & wear 2|

AU :
I 9 e any i a@ | aeg e S

I, SgeE S JREhR BHYT -9 g e
Suh o OfR ATATTa 3 SR T, Frfufed # & F-a v gugewe 7
(A) Faa ATl [ ofdfHfed & (B) ae ATV 11 sfafiea &
(C) 18R 11 €M siafifed & (D) 18R & 11 sfafed &

Which one of the following is a large blood vessel that carrics blood away from the heart

to the lungs ? L
(A) Vein (B) Artery
ﬁwﬁmﬁéﬁw—vﬁaﬁﬁm%sﬁﬁﬁm%mw%w%?

(A) 7 (s Brn)  (B) @ (C) R (D) e

h of the following historical sites of Haryana, excavatio

(C) Capillary (D) Nerve

n indicated 4500 ycar old

In whic
Civilization relics ? 4
(A) Rakhigarhi (B) Siswal (C) Rohtak (D) KarnalﬁﬁT

‘ ' i j st % S iy 7
BRarom W@HWWMWWNSOM&WH
P ©) T (D) T
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Site of a place in geography refers to the :

(A) External features of a place

(B) Precise location of the centre of a city

(C)  Proximity to natural resources or transportation routes

(D) Internal locational attributes of a place
SO 7 farelt oft e a1 st @ b T R 7
(A) ©F & srer s

- (B) sﬁr%éﬂ'maa;-aﬁasw

84.

901/C

(C) Urhides HQrast sroar aRae arit 4 e
(D) &I & SwaRe e [ersand -

Which one of the following is correct definition of Wide Area Network (WAN) ?

(A) It is a programming language with strong abstraction from the details of the

computer.

(B) It is a collection of computers interconnected with cach other through cables to share

their data, information and other common hardware resources.

(C) A computer network that covers a broad arca (i.c., any network, whose

communications links cross metropolitan, regional or national boundaries).

(D) Computer network covering a small physical arca like a home, office or small

groups of buildings, such as a school or an airport.

755 QRAT Yead (30 Yo TTo) I g aRemsT Frefara # & H-4f & 7

(A) 2 ST @t ST & S R 3 R  reh SRR A RO § FEf &

(B) a*"l[c’ﬁﬂm%a‘rmm,WWWWWWWﬁWWWW
Bl & AT § UH-GEY @ o g 8 el

(C) FEX Fead o aAw & Pl Bk FHa & (A1 B g off Jead, ! TR ST HETR],
mwvﬁuqﬁﬁmﬁaﬁ@—@ﬁaﬁﬁ%ﬁ

(D) #Regex eads foi e, s 1 e ) s gl 71 O

BIe e el & &

P.T. O,
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' i f s fstage’ | nomy ?
85. Which of the following statements correctly depicts “Take off SLag€ S BPEOROLILY

(A) It means steady growth begins.
(B) It means economy is stagnant.
(C) It means all controls are removed from cconomy.

(D) It means economy is about to collapse.
Toefofea # 4 S-ar e onferawn ¥ e o @ (S
(A) zoar o ¢ & ggferd fasm gre &

(B) st o7 @ o areforawen sed gf a1 oy &l
(C) waar o & 13 apforaear & as faw e Ry &1
(D) 8@ o & & srforawn 7€ & art 2

86. In 1945, the new organization called the United Nations pledged "to promotc social }

progress and better standards of life", because :
(A) It was competing with other international organizations like the World Bank.

(B) The colonized countries had started to exert pressurc on the international
community.
(C) The founders of UN considered it to be a white man’s burden.
(D) The UN Charter draws a link between international security and global poverty and
development.
¥ 1945 ¥, HYH T AT T WTeT o Qi Wi SR SfiaT & I8 Ay &r gaar o7 &
for” gfere 1, &9t |
(A) T s & S o ST TS & Wy et % et ol
(B) SR 39t T SR T TR S S JIH Y {37 o
(C) o To % GEIqHT ¥ 34 W NG H A GHEAT
(D) o o A, SIRILT Fear 71 35 T R Rerer & et @ 38t s 21

87. Which one word docs not belong with the others ?
(B) Retina

. (A) Cornca
(C) Pupil (P) Vision
T 9 e A A e ardr & ?
(A) sitg a1 g wee (@) B) i gear (¥feam)
(D) g (fawr)

(©) gt ()
901/C
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on record has put consumers in the mood to spend money,
strongest in thirteen years. During the month of February,
homes hit an annual record rate of 4.75 million.

best SUpports the statement that ¢

g8. Onc of the warmest wincy
Spending is likely 1o b the
sales of existing singlc-family
This paragraph

(A)
(B).

(C) there were about 4 million homes for sale
(D) warm Winter Weathe

qIE T A 5

consumer Spending will pe higher thirteen years from now than it is today.

MOTe people byy houses in the month of February than in any other month.

during the month of February.

89. Which one of the following is estima
(A) Age of the human being -

(C) Disease of the human body - (D) Purity of the metals
MW%WW@H&%WWMW% ?

(B) Siameny &% g
(D) srgett & qraan
90. Length, width and height of a room are 6 meter, 5 meter and 6

ted by the radio carbon dating ?
(B) Age of the fossils

(C) AT SR F1 A7

eter respectively. What is

the total cost to whitewash the four walls and the ceiling at the rate Rs, 5 per square

meter ?
(A) Rs. 660 (B) Rs. 960
(C) Rs. 1060 (D) Rs. 810
TS HHY & s mﬁmmmﬁzéﬁo,sﬁoeﬂwrﬁo%lmaﬁxﬁasmﬁmq
TR RaR} i e 2 ahel @ $ AT @ anly ?
A '6605@ (B) 960 &9
EC; 1060 BT (D) 810 59
P.T.0O.
901/C |

—
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95.

96.

97.

901/C
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What was the name of

gal on
July 6th 1905 ?

the first newspaper to announce the partition of Ben

(A) Swaraj

; (B) Sanjivani
(C) Kalantar

(D) Anandabazar Patrika
6 .
T, 1905 3 & FIWIoR 901 S e aTer wET FHTER G T A T o ?

A
(A) W @) g

(©) Fmr (D) ST R G

National Bird Sanctuary of Sultanpur is located in which one of the following Districts of
Haryana ?

(A) Gurugram (B) Yamunanagar (C) Panchkula (D) Ambala
T GEfl SRV (AT STAROT) G, el & fobe e 7 R 8 7

(A) ToaH (B) IR (C) dHg (D) eFTel
[.ook at this series :

! \ iy

e Rh 5 b4 585 35 ... .58 , next two numbers of this series 1s :

(A 2515 ' B 2585

() 35 25 (D) 2555

3 IR Fl O

7565 8555458535 ....onnn , ST @ ST a1 GeATd B

(A) 2515 (B) 2585

(Cy' 3525 (D) 2555

World Water Day is celebrated on :

(A) March 22 (B) May 11 (C) May 22 (D) June 05

faga o fea foer Ry sperra T & 7

(A) 2274 B) 117 (C) 227 (D) 53

Which one of the following is the correct meaning of Suffrage ?

(A) The freedom to speech (B) The right to vote

(C) Freedom from any suffering (D) The right to education
TR @ watord et 4 e ?
(A) Sifefs 1 @ (B) W 39 &l SRR
(C) fery oft =xem & feh (D) frem & srfeeR

P. T.O.
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98. Which one of the following statements is incorrect about the different generations of

mobile communications ?

(A) Only one subscriber at any given time is assigned a channel in the first gencration

(1G).
(B) In second generation (2G) mobile communication, 5 MIlz multi-carrier system is
used.

and data is an important featurc.
media is provided to users

urth generation (4G) mobile

(C) Tor third generation (3G) voice call
(D) Global roaming across multiple networks and multi
anytime and anywhere at a much higher speed in I'o
communication. |
WWm@ﬂaﬁﬁﬁﬂﬂﬁﬁ%aﬁﬁﬁﬁ%ﬁqﬁﬁﬁﬁ%ﬁ—mm AT & ?
(A) w9 (1 o) 3w T T A T ST (wm)aﬁ%ﬂaﬁmwél
“(B). %ﬁﬂﬁa(zaﬁ)ﬁmw?ﬂwﬁ, 5 M}Izag-mﬁwnsﬁaraqmﬁmam%l
(C) TaE e (3sﬁ)%mmmaﬁrmm@fﬁsmi%|
(D) et §E (4 5 aﬁﬁmﬁﬁﬂmﬁww@ﬁﬁ@%mﬁaﬁ@aﬁﬁmw
w&ﬂtﬂ%ﬂﬁgﬁuﬁaﬁ%ﬁaﬁr%ﬁﬂﬂwmﬁﬂﬂﬁwmﬁmﬁ%l

99. The Structure of Disaster Management in India has been an outcome of :
(A) A Parliamentary Ordinance of 2005
(B) Disaster Management Act, 2005
(C) The Environment (Protection) Act, 1986
(D) The National Green Tribunal Act, 2010
T 3 T SR 1 S iR aBr Ao ¥
(A) 20051 FEET STHTRA
@) STIET FEE S, 2005
() Tt (aRe) S, 1986
(D) T aa FrEfm s, 2010

100. If First December 1991 was the first Sunday, which datc was the fourth Tuesday of

December of 1991 ?
(A) 17-12-91 (B) 24-12-91 (C) 27-12-91 (D) 31-12-91

uﬁq@ﬁﬁaﬁ?wmﬁmrﬁm%ﬁwwmﬁﬁrmwmr—mﬁm?
(A) 17-12-91 (B) 24-12-91 (C) 27-12-91 (D) 31-12-91
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